Equal 9 step grey scaling betweeh*ya\=8.1 andL*y,\w=95.9, Yore=3.6, normalisation greyU
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L*0ane8.1,L*0a752.1,L%0an=96.0, Yoan=0.9, Yoa=20.2, Yoanw=90.0, Coay=Yoaw: Yoan=99.9
L*tan=23.1,L*tau=52.1, L*taw=91.4, Yian=3.8, Y1au=20.2, Yianw=79.4, Gay=Ytaw: Ytan=20.8
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 9%= 58, g%y= 47 g%= 93, g%= 91
intended output real output linearized output
L*0a L*Or YOa YOr ;L*a Al*a L*tr Yta (L*tr) 11251%a Al*a
960 10 900 10! 914 1.0 794 1.0 91.4
: 10.1 8.2
85.0 0.875 66.0 0731 813 0.852 59.1  0.88 83.2
: 10.0 8.4
740 075 467 0515 714 0.707 427  0.757 74.8
3 9.8 8.6
63.0 0625 31.6 0.345 61.6 0.563 29.9  0.631 66.2
3 9.5 8.8
521 05 202 0217 521 0.424 202  0.502 57.4
: 9.0 8.9
411 0375 11.9 0.124 43.0 0292 132 0372 48.5
; 8.2 8.9
301 025 63 0.06 348 0.171 8.4 0.243 39.6
3 6.9 8.5
191 0125 28 0.021 27.9 0.07 5.4 0.119 31.2
3 438 8.1
81 00 09 00: 231 00 38 0.0 23.1

AL*o=11.0  (i=1,2,....8) normalisation: Yeaiy=Yoay <02l Yoref
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